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	5.5
	If two parallel lines are intersected by a transversal, what relations exist among the measures of the angles formed?
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Complete Handout.

	Do Now

	Answer the questions below…
1.  In the diagram to the right, the angles at each 
point of intersection are numbered so that they can be
easily identified.

a.  What pairs of angles, if any, appear to be equal in measure?

[image: image10.png]


b.  What angle pairs appear to be supplementary?  (Supplementary angles need not be a linear pair.)
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A line intersecting two or more other lines in the plane is called a __________________.  A __________________ creates different types of angle pairs. 
Corresponding Angles:

Alternate Interior Angles:

Alternate Exterior Angles:

Same-Side Exterior Angles:

Same-Side Interior Angles:

	CORRESPONDING ANGLES POSTULATE:  If two parallel lines are cut by a transversal, then corresponding angles are _________________.



	ALTERNATE INTERIOR ANGLES THEOREM:  If two parallel lines are cut by a transversal, then alternate interior angles are ________________.



	ALTERNATE EXTERIOR ANGLES THEROEM:  If two parallel lines are cut by a transversal, then alternate exterior angles are ________________.


	SAME-SIDE INTERIOR ANGLES THEROEM:  If two parallel lines are cut by a transversal, then same-side interior angles are ________________.


	SAME-SIDE EXTERIOR ANGLES THEROEM:  If two parallel lines are cut by a transversal, then same-side exterior angles are ________________.




Proof of the Alternate Interior Angles Theorem
Given:  p ll q
Prove:   
[image: image1.wmf]12
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	Statements
	Reasons

	1.
	1.

	2.
	2.

	3.
	3.

	4.
	4.
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Proof of the Alternate Exterior Angles Theorem

Given:  p ll q
Prove:  
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	Statements
	Reasons

	1.
	1.

	2.
	2.

	3.
	3.

	4.
	4.
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HW # 
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1.  Find the angle measure.  Tell which postulate or theorem you use.

[image: image15.png]Ifm4 = 65, then m£1




a.  

[image: image16.png]71°, then m24.




b.  

c.  
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d.  

2.  A student concludes that 
[image: image3.wmf]Ð
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Postulate.  Describe and correct the error in his reasoning.  
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3.  What is the value of y in the diagram? 
[image: image20.png]Use the diagram below with separate assumptions for Part a and Part b.

a. Assume £ || m, p || ¢, m£2 = 40°, and m£3 = 35°.
i. Find mZs. Find mZ10.
Find mZ4. iv. Find mz7.

b. Do not assume any of the given lines are parallel. For each of
the given conditions, which lines, if any, can you conclude

are parallel?

i. mZ2 =ms8





4.  

REVIEW:
5.  Use the following picture to fill in the blanks below:
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	a. _______ and _______ are a linear pair.

b. _______ and _______ are also a linear pair.

c. _______ and _______ are vertical angles.
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6.  Find 
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 given the picture to the right:   
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